COMPUTER SCIENCE

s e ex Mat 5, |
General Instructions don A to.
1. This question paper contains five sections, Secti .
2. All ti apulsory.
questions are comp "t anch.

3. Section A have 18 questions carrying 01 ma
4. Section B has 07 Very Short Answer type ques
5. Section C has 05 Short Answer type questions carryin

6. Section D has 03 Long Answer type question

Q35 against part c only. : : -
8. All programming questions are to be answered using Python Language only

tions carrying 02 marks each.
g 03 marks each.

s carrying 05 marks each.

1.

Section A
State True or False

“The method that can be used to delete a range of values from a lists
del”. | [}

In which module, ceil() function resides ?

(a) pandas | (b) pyplot
(c) random - - (d) math

Given L=[2,3,4,5,6] . The output of print(L[-1:-5]) is
(a) [6,5,4] - (b) Error
)14 (@ [6.5)
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flli’lctioﬂ re |
(a) isalnum() tums True if all the characters in a string are digits. (1]
~ (c) isnumber() (b) isdigit() :

(d) isalphal()
Given a tuple t=(2,5,1,6,3). The sta
(a) (1,2,3,5,6)
(c) Error

tement t.sort() returns : 1]

(b) (6,5,3,2,1)
(d) None of these

The seek(n) places the file po;
pointer igs y
(a) Beginning at position n with reference to (1]
(c) Current position :3; ﬁnd't' i
osition

To see a list of all the databases in the system , the
(a) Show |
(c) Display databases

command may be used. [1]

------------

(b) Show databases
(d) View databases

8. A set of possible data values is called (1]
(a) attribute (b) degree
(c) tuple (d) domain
9. in and notin are ............ Operators. baisA D : (1]

(a) Arithmetic (b) Membership
(c) Logical : (d) Identity

10. Rows of a relation are called 1
(a) relation (b) tuples
(c) data structure (d) an entity

11. While opening a binary filethe ............ character has to be added to the mode of opening[.n
(a) b (b).x
(c) u (d) b*

12. If a table carries 10 columns and 15 rows , what is its degree? o8

, (a) 10 (b) 150
(c) 15 (d) 25

’3- Modulation and demodulation is performed ) i
( . (b) satellite
(:; zlc;owave (d) gateway

odem
B §

t1=(9,6,7,6)
L t2~(2.8,12,20)
. The output of th

" print( min(tl) + max(t2)) (b) 25
: (d) None of these

e statement pelow is
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(b) password
(d) A11 of these

; cter stre
17 Assertion (A) Plck]mg is a way to convey a python object into chara anf“‘

~ Reason (R) To perform pickling, the pickle module needs to be imported. -
(a) Both A and R are true and R is the correct explanation for A.

~ (b) Both A and R are true but R is not the correct explanatmn for A.
(c) A'is true but R is false. : i
(d) A is false but R is true. A. * Aey ja

18. Assertlon (A) A recursive function does not require a 100p.

Reason (R) A recursive function calls itself again and again until a certain condm
(a) Both A and R are true and R is the correct explanation for A.

(b) Both A and R are true but R is not the correct explanation for A.

(c) A is true but R is false.

(d) A is false but R is true.

Section B

19 Observe the code given below and find the output :

s="oceanview"
count=0
for a in s:
e dn tstuvy:
count+=1
L print(count)

). What is the d1fference between video conferencmg and chat?
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~ (b) Write the value stored i .
e 2 1 d ! A A | .
: Sosioy in the variable Num by each of the following statements.  [1]
(i) Num=243_1+3 .
| (i) Num = (243)*2
2 2. Explain database and DM in detail S
73. () Write the full forms of .
| (21

i) RJ45
) (i) XML

(b) Write one advantage
topology COmparedgtos I;isBus topology compared to Star and one advantage of star

at output wi i
24. ;Z?tr(lg will the following code produce? o
x="hel10"*3
print(x,y)
x="hello" + "world"
y=len(x)
print(y,x)

Or
W'nte function names for the following with respect to strings.
(i) To make the first letter of a string in capital
(ii) To find the index of the 1st occurrence of a string in another.

25. What is DDL? Explain with its commands. ’ 21\

Or
What is DML? Explain with its commands.

Section C

26. (a) Consider the following tables PERSON and ORDERS ' (142
Table : PERSON
P_ld Last_N_a‘T_e_eM MFirst_Name City

1 Sharrvnam ”“___NAbhay Mumbai
0! "2  Gupla Mohan Solh
Wﬁt? W—é—'— Verma Akhil Mumbai
b
4 ' Table : ORDERS
E 0.1d Order_No_ P id
..... 0 3
2 25000 3
3 5687 1
4 45000 ]
5 35000 15 ‘
b

 the tables given above write a command to display the Lastname,
Mir:‘:ttnn;i;ze:ltl dt(::o rresponding order number arranged by Lastname.




giveil below

 (b) With respect to the table PAYME
questions.

Empld  Emp_Name ; 7
R .. B et ST
2 Rt 7'275000 ] ol /Q%_ R
3 “Reeeh o B0000 . —py o0 I8
a Roshan 44000 . —— i | AR
5 Rohini 000 pie Loph—ed 3
6 i 7 PAYMENTS table. 1

m . k-
(i) To display the average of employees balgry MENTS table Department wigg

AY
(i) To count the total number of employees from I: o AYMENTS table.
(i) To count distinct values of column Departmen

t for only those departmep,
(iv) To display department wise number of em]:;loyees ) bl
where number of employees are more than 2.
27. Write a code in Python to open a Binary file “"College.dat L
per following structure. lll_j
Roll Name SemPercentage
The code should display only records of stude
greater than 30.

containing records of stu dem,‘ |

nts from the file where the percentage js

Or
Write a method countopen() to count and display the number of hn?s starting Wl'th the word j
‘OPEN'(including lower cases and upper cases) present in a text file “start. txt". g
e.g. If the file “start.txt” contains the following lines:
Get the data value to be deleted,
Open the file for reading from it.
Read the complete file into a list
Delete the data from the list
Open the file
Open same file for writing into it
Write the modified list into file.
Close the file.
The method should display
Total lines started with word ‘OPEN' is/are: 3

TABLE: INTERIORS

No  ITEMNAME ki A EISI‘EOFSTW'SC

1 Redrose ~ Double Bed WNW&R‘@&)QX\“OPNT
R e L.

3  Jemy's home Baby cot 1902002 '""""8“5"“'53"‘*“ et 0 S
- Wuohwood . OfficoTable - ovye

5  Comfortzone  Double Bed Nﬁ%ﬁx“&\%\N

6 a0 N

M\‘
o Jerry look Baby cot 4/02/02 \\20
s T ‘ : 2 7000 ‘ % .



No ITEMNAME :

TYPE

W s lion kir.19 T Tabue\""““%IF?ES»‘I?Q—-& PRICE DISCOUNT
e L i 35000 e
& ...,,_,_‘_,,_E'U,'F‘,g} Table 8575 _‘ 105(?0 12 :
12'"__@_595067 s;ib'e = i 20000 20
e S e e

e ——————_

(i) To show all info : - G
- : I'matio ‘ ‘
(ii) To list the ITEMNAMII; ab(;l.lt the Sofa from the INTERIORS table.
table. » Which are priced at more than 10000 from the INTERIORS
(iii) To list ITEMNA
22/01/02 from thelt/IIEN"?nd TYPE of those items, in which DATEOFSTOCK is before
ERIORS table in descending order of ITEMNAME.
n‘télfefINTERIORS table with the following data
; ice Table’, “25/03/03’, 15000, 20}
Writ - ; ;
(b) € the command to display the sum of prices of items of type “cot”.

(iv) To insert a new row i
{14, “Truelndian’,

. Write a userdefi i : :
29 3 i .ned fupctlon to'accept a string and check whether itis palindrome or not.
(A palindrome is a string that is same as its reverse) J [3]

3(0. Explain the traversal operation in a stack. . 3]

Write the algorithm for Traversal of a stack to display its contents.
You need not to write the actual code.
Or
Find the final contents of a stack that encounters the following tokens. e
Assume that an operand is pushed to stack and a binary operator pops two operands from
stack and pushes the result to the stack. ~

g1 °,80,+,50,+

Section D

31. T oration (TUC) is a professional consultancy company. The company is
pTS;lnglI; E)o?;t up their new offices in India with its hub at Hyderabad. As a network

adviser, you have to understand their requirement and suggest to them the best available

i i i d as (i) to (v) below.
solutions. Their queries are mentione
g ! Physical locations of the blocks of TUC

G Human
rence
Coréfg ok ’ Resource
Block

Finance ‘
Block . /




Block to block distances (in metre)

Block (From) _P'Wk (To) . 60 =
Human Resource 992[9._@09_‘?«—«-~~1’2"0’”"
_Human Resource __ Financ® g ="
“Conference Finance ‘ b block
Expected number of computers to be insta L
Block cOmpUtOTS i
Human Resoucs 125 Al
i R %f; e 4
Conference /.;

C should plan to 1nsta11 their SeTvery

here TU
(1) What will the most appropriate block, W the buildings in the most appmpnm_.

(ii) Draw a block to block cable layout to connect all

-manner for efficient communication. i}
(ili) Write names of different types of Modems. s U}
(iv) Which of the following devices will be suggested by you to cOnnect €acti Computerj,
each of the buildings? Y
(a) Gateway (b) Switch (c) Modem
~(v) Company is planning to connect its Block in Hyderabad which is more than 20 km. |
~ Which type of network will be formed? {0
32. (a) Underline the errors in the following code and write the correct code: 243

s=“WelcometoCS”
BEtor 8 IN s
If a IN-“aeiou”
print(a) ™
else
print(“False”)

(b) Write a code in Python to update the class of a student to 12 whose roll number1522.
The table structure is as follows :

RollNo Name Class Perc
Note :
Database :PythonDB
Table: Student
. Host :localhost
Userld:root
Password: arihant

Or
(a) Write the output of the following functlon
def showOutput():
num=4 + float(7) / int(2.0)
print(“num =" , num)

(b) Write a code in Python to delete the recorq ofas
The table structure is as follows
RollNo - Name Class

tudent whoge rollno is 33.

Perc




Note :

Database :Pythonpg
Table: Student :
Host :localhost

& Userld:root
i Password: arihant

. What is the use ;
33 L - ﬁle‘“HO(:f IV\;l'lterOWS() function for CSV files? 5]
: el.dat" exi . :
RoomlId eXists storing details of hotel customers as per following structure:
CustomerName Days

Write @ program in pyth _
following functions ython: for adding and displaying records from the binary file using

Re :
EZ; Shiifrgzge-r:z:dd data of customers to the binary file.
1ons() : To open the file “Hotel.dat" and display all the records.

Or

What is csv. reader() function?
A binary file “Tele e : : :
e phone.dat"” exists storing details of BSNL customers as per following
- PhoneNo CustomerName ConnType
ite a program in python for adding and displayi i i i
Billowing functions g playing record count from the binary file using
(@) NewCustomer() : To add data of customers to the binary file “Telephone.dat".

Note : The existing connection data should be preserved.
(b) PrintConnections() : To open the file "Telephone.dat" and display the connections and

number of connections.

Section E

34. Consider the following table [1+1+2]
TABLE : INTERIORS

b No ITEMNAME  TYPE “DATEOFSTOCK ~ PRICE  DISCOUNT
1 Redrose  Double Bed ~23/02/02 82000113 010, WO
- 2 Soft touch Baby cot 20{01/02 ¢y 4411:./:9000p s et FENQ T
3 Jemy's home  Baby cot T BI0o0R T SRR SRS

ATEOFSTOCK column?

(i) What should be the data type for the D

(ii) Write a command to add a new record as follows :

4, "Morris","Sofa Set”
Rest of the field values are not

" - (iii) Write statements tO :
(a) Write a comman

' DISCOUNT) .
(b) Display only [TEMNAME and Discou

given

410 display only, the Column ITEMNAME, Net Amount(PRICE-

nt column.




